





a monopoly firm and supplies labor to a perfectly competitive labor market. A household-firm does not use its own labor
in production, but instead hires labor from the perfectly competitive labor market at a market-clearing nominal wage W
per unit of labor. Each household acts to maximize:

1
U,=C,——1I where C, is an index of consumption of individual goods. Each household-firm's production function is
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Y = H, , where H is the number of labor units the household-firm hires from the labor market. Demand for the good
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8) Consider two economies, Wessex and Mercia. In both economies 7, = fE,7,,, + Ay, , where [ is a time-discount
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d) Now assume:
- Total output is equal to consumption (closed economy, no investment or government purchases).
- the central bank holds the money supply fixed.

- in every period ¢, E,C,,, s equal to the long-run steady-state value C, and the price level is fixed so E,7, , is always

equal to zero (don't ask why).
What relationship would you expect to observe between the realized value of € in a period and the nominal interest rate i

in that period? That is, will a high realized value of €, tend to increase, decrease or have no effect on I, ? Or do you need

more information to say? Explain. ¥
%4

l s
| 5 e -% -5 _pe) 2
The assumptions here zmplyé> ; ¥ L)
A

=t — / . v j = (%
5T ) T R Wi VRIS E

- ~ b =
(‘ ew»(%f/t_gf?,a}

hy

This corresponds to the IS/LM model. A high realized value of €, shifts the IS curve out/up. It shifts the LM curve

back/down. So far the effect on i, is ambiguous.You have to do the math, which shows that the effect on I, necessarily nets
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